
 AGH91−7N, 

TLS70-Reflexionsfarbmetrik, System sRGB, L*ABJND-L*ABCh, YNn = 40.32, L* Nn = 69.7, YWa = 88,6
Farbe  r g b x yX Y Z
Rd 1.0 0.0 0.0 58.23(=19.91+38.32) 50.59(=10.27+40.32) 44.83(=0.93+43.9) 0.379 0.3292
Yd 1.0 1.0 0.0 80.28(=41.96+38.32) 90.88(=50.56+40.32) 51.45(=7.55+43.9) 0.3606 0.4082
Gd 0.0 1.0 0.0 57.81(=19.49+38.32) 79.29(=38.97+40.32) 50.39(=6.49+43.9) 0.3083 0.4229
Cd 0.0 1.0 1.0 67.64(=29.32+38.32) 83.23(=42.91+40.32) 102.21(=58.3+43.9) 0.2673 0.3289
Bd 0.0 0.0 1.0 48.16(=9.84+38.32) 44.25(=3.93+40.32) 95.71(=51.81+43.9) 0.256 0.2352
Md 1.0 0.0 1.0 70.63(=32.31+38.32) 55.84(=15.52+40.32) 96.76(=52.86+43.9) 0.3164 0.2501
N0d 0.0 0.0 0.0 38.33(=0.01+38.32) 40.33(=0.01+40.32) 43.91(=0.01+43.9) 0.3127 0.329
W0d 1.0 1.0 1.0 84.21(=45.89+38.32) 88.6(=48.28+40.32) 96.48(=52.58+43.9) 0.3127 0.329
N1d 0.0 0.0 0.0 38.33(=0.01+38.32) 40.33(=0.01+40.32) 43.91(=0.01+43.9) 0.3127 0.329
W1d 1.13 1.13 1.13 90.12(=51.8+38.32) 94.81(=54.49+40.32) 103.25(=59.35+43.9) 0.3127 0.329
Z1d 0.18 0.18 0.18 47.64(=9.32+38.32) 50.13(=9.81+40.32) 54.58(=10.68+43.9) 0.3127 0.329


